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B. Zero
D. EXponenﬂally decaying
. When a control signal is required to ha
20 the capability of linear electronic a!,,gpliﬁgrs, which of the
following is prefe ? @ %

A. Amplidyne
B. AC servomotor «*®. @
C. AC tachometer —_—
D. Metadyne {

& B |
21, Transfer function of thegontmhﬁstem depends on:
A. System paranféfé?igglone

B. Nature of the input
C. Initial cond ;r::}f input and out
D. Nature of ghkg put b

S . For a transfer fu Cﬁ"" (s) = P(s) / Q(s), where P (s) and Q (s)

ks are Mv% en;
' d
:’&\ of P (s) is always greater than the degree of

g degree of P (s) and Q(
gree of P(s) is Independ(:lzta;fe :::‘r:a of Q (s)

4

mum d
imum degree of P (s) and Q (s) differ at most by o1®
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| 30. Which one of the following is an active device?

A. Electric bulb
B. Transformer
C. SCR

D. Loudspeaker

31. A tangent galvanometer is:

32. An N-type crystal is:

A. Neutral
B. Negatively charge
C. Positively charged

D. Insufficient Information

ich converts mechan_k@

A. An absolute instrument
B. A secondary instrument
C. A recording instrument

D. An integrating instrument :










Ampere-héur meter
. Watt-hour meter
C. Voltmeter '
D. Both A andB

53. The main-reason for the co
output stage of the thyr

| A. Amplify the power
’ B. Provide electrical isolation

C. Reduce the turn on time of thyristor
D.

54. One electron is moving in electric
energy from:

A. Magnetic field

B. Electric field

C. BothA andB

D. Insufficient Information

55. The fuﬁi}ﬁgp;of the starter for a dc motor is:

& 11?‘\]'0 limit the starting current

To limit the starting voltage
€. Toincrease field resistance .
D. To reduce armature resistance

connecting of a pulse tran
istor triggering circuit is to:

slormq-atﬁg

of the triggering puise

Avoid spurious triggering of the thyristor due to noise
and magnetic fields. It will gain
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is mkalmum in:

E. 130.33V ;
57. The ratio of starting torque to full load torque

A. Shunt motor
B. Series motor
C. Differential compound motor
D. Cumulative compound motor

58. Photons always propagate with speed ¢, but light comes into view
to travel at a speed diverse from c in an opaque medium. We can
explain this fact by in medium by introducing a
phase change upon re-radiation.

A. Electron oscillators
B. Discharge tube

C. Cathode rays

D. Electromagnetic rays

'59. Frog-leg winding is:
i A. Same as simplex winding
- B. Same as duplex winding

C. Combined lap and wave winding on a si
ngle
D. Duplex wave winding on a single rotor s

a;m;c % ujﬁl-conductors belong to:
- A, Third p
2 gy o o

brush shift angle must b.m = 2L ','""W commutation,

A Varie mo in load

g




“' Line ~.
D.  Volume of |

64. Second Cauer's brm.u . .-
successful removal of: F ol Synthesis is the

A.  Poles at infinity
B. Zeros at infinity
C.  Poles at origin
D.  Zeros at origin

-

65. If residual magnetism of a shunt
accidentally, it may be restored

A. to earth

B. to an alternator
C. toa battery

D. inreverse

generator is destroyed
by connecting its shunt flald:

66. The lines of force are circular and their direction depends upon the
direction of:

A. Voltage
B. Capacitance
C. Current

pD. Resistance

67. The DC compound motors are generally:
i,
4 i A. Cumulative compound
" B. Differential compound
€. Levelling compound
D. Beveling compound
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o1 The tharactorietic lmv‘anhﬁ“ﬁ of & transmission line depande
which of the following¥.,../ " upon

o Conductivity of the material
€. Surtace treatment of the conductors
b Shape of the conductors

V1K ahiort brane

|

& line has squivalent circuit consisting of;
A m“un« I and shunt capacitance G
B 8 m istance R and shunt capacitance G

F 2 stance R and shunt tapacitance €

‘ & ties resistance R and series inductance |

- oPHGance is usually neglected in the analysis of:

ot teansmission fines 1
Long L™ Well as long transmission lines _
welt SMission lines a3
M transmission lines S
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Pressure

o Flow rate
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A 3 phase transmission line is 10,000 kVA at

el’R losses
ine is: 76 900 kW. The




